
 
 

gq;Fr; re;ij 

gq;Ffs;> gq;Fyhgk; 

fNzrd; fk;gdp xd;wpy; &gh 30 tPjk; 500 gq;Ffis nfhs;tdT nra;fpwhu; vdpd;> 

I. mtu; KjyPL nra;j njhif  =  &gh 30 X 500 

                                                                     =  &gh 15000 

 / fk;gdp Mz;Lg; gq;Fyhgk; xU gq;fpw;F &gh 3 toq;fg;gLnkdpd; 

 II.  fNzrdpd; Mz;L tUkhdk;     =  &gh 3 X 500 

                                                                            =  &gh 1500 

%yjd ,yhgk; 

III. fNzrd;  jd;dplKs;s  gq;Ffspd; re;ij tpiy &35 Mf caUk;NghJ gq;Ffs;    
     midj;ijAk;   tpw;fpwhu;.  
 / mtu; milAk; %yjd ,yhgk; ahJ? 

   gq;Ffis tpw;gjhy; fpilf;Fk; njhif   =  &gh 35 X 500 

                                                                                                 =  &gh 17500 

        %yjdk; =  gq;Ffspd; tpw;gid tpiy - gq;Ffspd; nfhs;tpiy 

                                         =   &gh 17500 – 15000 

                                                                                                           =  &gh 2500 

 

tpdh. 

xU tpahghup re;ij tpiy &gh 40 MfTs;s xU Fwpj;j fk;gdpapd; gq;Ffis nfhs;tdT nra;tjw;F 

&gh 40000 I KjyPL nra;jtu;. Xu; Mz;bd; gpd;du; mtu; ,l;l gzj;jpd; 10% I gq;fpyhgkhf ngw;whu;. 
mt;tUkhdj;ij ngw;w gpd;du; xU gq;F &gh 50 tPjk; vy;yhg; gq;FfisAk; tpw;fpd;whu;.  

1. tpahghup fk;gdpaplkpUe;J ngw;w Jz;Lg; gq;fpyhgk; ahJ? 

2. fk;gdp xU gq;fpw;fhf Mz;L NjhWk; nrYj;jpa gq;fpyhgk; ahJ? 

3. tpahghup gq;Ffis tpw;gjd; %yk; ngw;w gzj;ijf; fhz;f. 

4. tpahghupf;F fpilf;Fk; %yjd ,yhgk; ahJ? 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

ghlk;:  fzpjk;  

juk;: 11 
Mf;fk;: Mrpupia  A.M.F. e];upd; 

Nf/ Nffhiy rh`puh kfh tpj;jpahyak; 

thuk;  - 2 


